Starting from the right, subtract each column in turn.
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3 subtract 7 would give us a
negative number, so we re-

group.

Exchange one lot of 10, so we
now have 13 - 7.
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Key learning: add two 3-digit numbers with exchange 26 8 -4 = 264
Column addition:
. . . Hundred Ten Ones
Starting from the right, add each column in turn. Carry
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WRITTEN METHOD 347
Key learning: subtract two 3-digit numbers with exchange
273 74
Column subtraction:

347 — 74 = 273 can be checked using
273 + 74 = 347

This part whole shows the inverse calculations using these

three numbers.

Near numbers:

-
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We can estimate answers
using near numbers.

Eg 167-89
I70 - 90 - 80

300”500”800‘

154 + 269 = 423 269 + 154 = 423

423 - 154 = 269 423 - 269 = 154




